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F2 2 b the following columns and seloct the
Ma

Name the ennryme that facilita of DNA | % option.
"):- helix durln:::‘lnu:ﬂpimn it correct 1 Column - 11
(1} DNApolymernse w Immune response
@1 RNA polrmerase ia) mﬁh .
£ DNA lignse o Basophile (i) Phagocylosis
(9 DNA helicnse @ Neotrophils (i) Reloase
Instaminase
2  Whichaf : of '
= chﬂhw'mﬂﬂnm |
1) Atrial natriuretic fll:‘;ﬁf CAURER enrymes
Vasoconstrcton Reloase
2} Decrrase in secretion of rems by JG celle W Lymphoqytes Ll b e
@3 More water reabsorption due to )
undersecrvton of ADH huatamine
4} Reabsorption of Na * and water from reaal ) (b © (d
tubules due to aldosterone w e ® vy (i)
&7 Meiotic division of the secondsry vocyte is m @ O ()
’ completed @ ) v W O
-  After rygote formation w m O M
0 At the of fusion of & sperm with
m:mum' s = -l( Match the following columns and select the
3  Prior to ovulation correct option.
(4) At the time of copulstion Column -1 Column - T1
4 Match the following comrrnmng cssritial clements fa)  Placenta @  Androgens
and their functions in plants - (h) Zonapelluida (i) Human Chononic
(a) lron @  Photalyws of water Gonadotropin
(@ Baron (m) Required for chiorophyil © Bulbourethral @) Layerofthe ovum
@ Manganese () LAA bosynthesis glands
Select the correct optaon - d Leydigcolls (v} Lubnecation of the
) (b (&  Penus
m G M B @ ) (b) (o) (d
™, v 0O 60 6 Wow e wm e
@ 0 ® ™ @@ @ G @ v @
@ Gv) ) W @ @ ™ m 60 @
& Which of the following pairs is of unicellular w o ™ o @
/ algac ? The plant parts which consist of two -
*H  Anaboena and Volvax y ﬂ'ﬁrﬁ- - generations
@  Chlorella and Spiruling ; v
@ Laminariac and Sorgossum bt mmm
Enmeies
The oxygenation activity of RuBwsCo enzyme in
photorespiration leads 10 the formation of € Sood inaide the frait
™. 1 molecule of 6-C compound @ Embryo sac inside the ovule
1 malecule of 4-C compound and 1 moleculs M i endid)
of 2-C compound @  (a)and d)
-'a.‘_l {m !m‘mm n ; . *
_ 4 1 molecule of 3. compound “ (8), (b) and ()
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10, Which of the following sta
bodies in irlul:w:trrunn‘.:tﬂ'.’I Fementa about inclusion
{1y They be free in the cytoplasm.
T
{2 hul:.‘z?rurenr reserve material in
(@  They are not bound by any membrane.
(4 :Iumn llll‘t involved in ingestion of food
M Btrobili or cones are found in -
(1) Marchantia
(&)  Equisetum
M7 Salvinia
(4 Prlers
y :fhnm.l protoco] wias eigned in 1987 far control
- Release of Green House gnees
@  Disposal of e-wastes
(3)  Transport of Genetically modifiod organisms
from one country to another
(4)  Emission of czone depleting substances

Whach of the following statements is correct ?
(1)  Adenine pairs with thymime through three
H-bonds.

Adenine does not pair with thymine.
Adenine pairs with thymine through two
H-banda

Adenine pairs with thymine through one
H-bond

48

The body of the avule is fused within the funicle

(I Nucellus
A2y Chalaza
i3y Hilum
(4)  Micropyle

m-qwthﬂm.mmﬂ.mwnrm
linked DNA in the vector, is termed

(1)  Palindromic sequence
L3~ Belectable marker
4)  Orimite

a

16,

17.

18,

18,

2L

F2

ld.tnl.l.l'y. the wrong statement with regard to
1on Enrymes
1h]

They are useful in genetic engnrering.
Sticky ends can be joined by using DNA

(3l Esch restriction enzymeo functions by

nepecting the length of 8 DNA sequence.

They cut the strand of DNA at patindromic
B

e

The product(s) of resction eatalyzed by nitrogenase
0 root nodules of leguminous plants iw/are

¥ Ammonis and oxygen
@) Ammonua and hydrogen
) Ammomia alons

) Nitrate glons

In light reactson, plastoquinone facilitates the
transfer of electrons from

QT PS-lto NADP*

2i  PElwATP synthase
5 PS1lto Cythyf complex
@ Cythfoomplex to PS-

Which of the following hormone levels will couwse
release of ovum (ovulation) from the graffian
fiolbiche *

(1) Low concentration of LH

@ Low concentration of FSH
@ High concentration of Estrogen

() Highconcentration of Progesterone

The first phase of tranalation s
1 Aminoacylation of t(RNA

@  Recognition of an anti-codon

®  Rinding of mRNA to ribosome

The roots that originate from the base of the stem
e

WY Prop oot

(0  Lateral roots

3@ Fibrous roots

@) Prmary roote
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f‘

O; hinding with haemogiohin
In gel electrophoresie. separsted DNA fragments
can be visualised with the help of -
1)  Acrtoarmine i UV radintaon
@ Etndiom bromsde m nfrared radustion
@  Acrtocarmne in braght blue hght
(4  Ethidium bromide o UV radistson
The enzyme enterokinase helpe in conversion of
(1) caseinopen mio casemn
(2)  pepsanogen mto pepan
W) proten mto polypeptudes
(¥  trypmnogen into trypan
poveimmal st o e hvmsons
(1)  Boven
@  Morgan
5 Mendel
4@ Satwon
diverity o e May. the global apecies
(1) 50 million
@ Tmillioy
S Lbmillipy
) 20 milligy

1

Identify the wrong statement with reference to
transport of oxvgen

&

Higher H* conc. in alveoli favours the
form aton of mxvhsemogiobin

Low pCO; in alveoh favours the formation
of oxy harmoglobimn

Binding of axygen with haemoglobun s
mainly related to partial pressure of O,

Partial pressure of OO, can interfore with

I

()

i4)

Um niEm ‘l'“h i“ U In hlﬂln“hn{'lhln-

a ?“l"d“h" Cloning v
w e eCtar
@  Bacllus
AL RGN sLs
il (i Construction of
% ::;:—m first rDNA
maolecule
i@ Agrobacterium (il DNA polymernge
tumefocrena
@ Salmonelio (ivi  Cry proteins
typhimurim
Select the correct option from the following ;
m (b)) (o (@
)J!f @ @ G 0
@ @ o O G
@ W 6 @ @
@ (v @ @ @
™
1 interphase.
M Cell i'"“ﬂ‘#g;m grows but does
not replicate its
2  Nuclear Division takes place.
W9~ DNA synthesis or replication takes place.
(4 Wﬂmﬂmmmmkﬁ

28, Which of the following is correet about viroids ?
() They have DNA with protein coat.

@  They have free DNA without protein coat
“H_ They have RNA with protein coat.

L Mhﬁﬁuﬂﬂ&wjﬂmutpmﬂmmt.

30.  The transverse section of n plant shows following
anatomical festures :

Large number of scattered vascular bundles
surrounded by bundle sheath.

Large conspicuous parenchymatous ground
amue,

Vascular bundles conjoint and closed.
Phioem parenchyma absent.

1dentify the category of plant and ite part:

@ “tem

ﬂmm
@ Manocotyledonous

(m)
(b)
e
)

@ stem

t Moncootyledonous raot
Mded from www.cclchapter.com
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From his experiments,
acids by mixing the

(1)
b

~Er
(4

F

8.1 Miller produced amino
following in n closed flask

CH,, Hy, NH, and water vapor at 600°C
CHy, Hy, NH, and water vapor wt 80(°FC
CHy, Hy, NH, and water vapor at B00"C

CHy, Hy, NH, and water vapar at 800°C

ldentify the basic amino acid from the following

(1) Lyuine

(2) Valine

(3  Tyrosine
Glutamic Aad

83. Snow-blindness in Antarctic region is due to

(1) High reflection of light from snow

i Damage to retina caused by infra-red rays

(3 Freezing of fluids in the eve by low
temperature

) Inflammation of cornea due to high dose of
UV-B radintion

Some dividing cells exit the cell cycle and enter
tive inactive stage. This is called quiescent
atage (Gy). This process occurs st the end of:

- Sphase
@  Gyphase
® Mphase
(4) Cyphase
Bt i i
(1)  Himalayns

{2 Amazson forests

K1) Westorn Ghats of lndia
(@  Madagnscar

b

F2

Identify the incorrect statement,

)

(2

]

4

Sapwood is the innermost sscondary xylem
and iz hghter in colour,

Due to deposition of tannins, resins, ails ete.,
beart wood 18 dark mn colour.

Heart wood does not conduct water but gives
mechaniceal support.

Bapwood 1= involved in conduction of water
nnd minerals from root to leaf.

Floridean starch has structurs similar to :

(1) Mannitol and algin

(2) Lamnann and collulose

P.( Search and cellulose

4)  Amylopectin and glycogen

Which of the following is not an attribute of a
papulation ?

()  Mortality

(¥  Sexratio

(4  Natality

89. The number of substrate level phospharylations
in one turn of atric acid cycle ia :

4L

wy Two
@ Three
. o
@ One
Identify the correet statement with reference to
human digestive system,
(1)  [eum is a highly coiled part.
@  Vermiform appendix arses from duodenum.
i lleum opens into small inteatine.

4

Serosa is the innermost Inyer of the
alimentary canal.

In which of the following techniques, the embryos
are transferred to assist those females who cannot

coneeive ?

(n
@

g
“,

1CS1 and ZIFT
GIFT and 1CSI
FIFT and IUT
GIFT and ZIFT

Downloaded from www.cclchapter.com



F2
4

In relation to Gross prmary productivity and Net
primary productivity of an ecosystem. whach one
of the following statements s correct
(1 Girome primary productivity and Net promary
productivity are one and same
(@ There s no relstionship between Gross
primary productivity and Net primary
productvry
U Gross prnmary productivity s always less
than net prmary prodoctivey
4 m—mnﬂmam—'
than net promary productnaty
Nmﬁ.ﬂmmmm'-
SPIAYINg on sugarcans crop. increases the length
of stem thus increasuing the vield of sugarcane
crop
M Ethyless
@  Abscisr acd
@ Cywkisun
" Gabberelin
Seoondary metabolites vack as motne strychmune
and caffeine are produced by plants fior their
il Defernoe scton
TS  Effect on reprodurten
3 Nutntive value
4 Growth respunse
Select the correct match
(1)  Sickle cell ansemia -  Autosomal
reressive trag
chromosome |1
@ Thalassrma - Xbnked
W Hasemophila «  Yhnked
)  Phenylketonunas Atomomal
dominant tran
Select the correct statement
(¥ Insulin scts on pancrestic pells and
adipacytes
21 Ineulin is associated with hyperglycemua
@ Glucscortirods stum ulate gluconsogrnesis.
(4)  Glucagon s associated with hypoglycemia.

ing refer to correct exampley,

a mﬂlhlﬂ:::hh-""d"ddmuwhnng“

-
:Mmm brought about by anthropogen,
action
o P " ﬂﬂm.l““‘l'““d'
i wrﬂl
@ Muﬂlﬂm“""
o | brweds of domesticated ammals
hike dogs.
m o), andid
@ onlyid
U onlyia)
@  (a)and (<)
48 Choose the correct pair from the following :
(1) Nucleases -  Separato the two strands
of DNA
?’ Exonucleases - Make cuts at speafic
positions within DNA
% Liguses = dJoin the two DNA
molecules
)  Polymerases -  Break the DNA into
fragments
495 !.'h"'IT support for evolution wae
™. Charles Darwin
@ Oparin
@  Karl Ernst von Baer
(W Alfred Wallace
50. Gﬁhu&ﬂw-ﬂmm
M) Chondrocytes
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s  Which of the following statoments are true for | 56.  Match the :
: = following columne and select the
the phylum - Chordata PR
im) ::: [jﬂﬂ:hl:r_rdma lEIl'JIT,I_'!I:hﬂrd extends from Column -1 Column . |1
: h:tr ht::ml and it is present throughout (@)  Clostridium. @  CycosporinA
butylicum
In Verteh 5 .
& ﬂl:n;mhrr:;n:: xfmh:“]d; Prowent during k) Trichoderma . “(n)  Butyric Acid
| v
() Centnlll nervous aystem is dorsal and © Tr;m u:ﬂ Gi)  Citrie Acid
{d Chordata is divided into 3 subphyls o Sy -,
Hemichordats, Tunicata and dy Aspergillus miger (v) Blood cholesterol
Cephalochordata. bowering agent
(1)  {a)mnd (b) a) (b) () (d)
m w m (v) ()
@ s @ o @ @ O
(3 (d)and (c) @ m ™ @
(4 (c)and (a) AT ) @ v G
57. By which method was n new breed ‘Hisnrdale' of
53. Which of the following is put into Anserobic sludge aheep formed by using Bikaner ewes and Marino
digester for further sewage trestment 7 rams !
(1) Effluonts of primary treatment l;‘ Croas breeding
Inbreoding
437 Primary eludge (9 Mutstonal breeding
(4)  Floating debris Select the correct events that occur during
inspuraton
4. ldentify the substances having glycosidic bond snd (@ Contraction of disphragm
peptide bond, respectively in their structure : (b}  Contraction of external intorcostal muscles
(1)  Cellulose, lecithin {©  Pulmonary volume decreases
(@  Inulin, msulin . id)  Intra pulmonary pressure increases
Chitin, cholesterol . (1  (a), (b) and (d)
% : O onlyid
4  Glycerol trypan @  (a)and )
- , - (c)nnd(d)
ing diseases with the causative
% :::::L:ﬂ -ﬂh n';‘ the correct option. 59. Match the following columns and seloct the
i correct option.
Column - | Column Coliamn -1 Column - 11
@)  Typhoid. ®  Wuchereria (@ Gregarious, polyphagous () Asterios
: Plosmodium pest : L
{b) Pmum; ¥ by  Adult with radial () Soorpion
. monetio metry and larva
(@ Pilariasls jnm ™ :,i-ﬁ:hihur-lmmln' |
' (i) Haemophilus (© Booklungs (1) (Ctenoplana
@ (@ Bicluminescenco (v) Locusta
W M @ @ @ () () HJ}
(i) v m G @ @ v
a ® : (i) @ ) W (md (vl
@ © @ @ @ v 6 0 G
. @ w o W
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80.  Which 1s the important site of formation of
elveoproteins and glycolipids in eukarvotic cells *

T Gobp bodses
() Endoplasmic reteculum
€ Peromsomes
6l The sprafic palindromic sequence which W
recogrized by Ecolll
D 5-CTTAAG . T
T - GAATTC-§
(4] 5 - GOATCC - ¥
3. CCTAGG - &
3 §F-GAATIC.7
T-CTTAAG-§
™ 5 -GGAACC-¥Y
3- OCTIGG - &
62. [hssolution of the svnaplonemal complex oocurs
dunng .
(1 Diplotens
@) lLepugtene
@  Pachytens .
W Zypotene
63,  Mstch the tropher levels with therr correct speces
eramples in gressland ecosvwtes
ta) Fourthtropluclewel @  Crow
®)  Second trophiclevel @) Vulture
(© Pistuophsclevel = (u) Rabbe
)  Third trophiclevel ~“(v) Grase
Select the correct option
@) (b) (ch (d)
My iy Gl fmp @
@ ® wm G v
™ ) ) v W
W (w W @ 0w

64. How many trus breeding pes plant varieties did
Mendel seloct as pawrs. which were mmilar except
in one charucter with contrasting traits 7

™
N
i) [
4 2

llowing columns and seloct the

Match the fo
correct option
{'n‘lnm.l_ mullﬂi-“
@  Bteotton (1Y) Gene therapy
b Adenosne w  Cellular defence
Araminase
defiaency
s  RxA (i} Detection of HIV
infection
& PCR liv)  Bocillus
thurningiensis
a) (b)) (e} (d)
i @ o vy Q)
@ @ @ @ ()
o™ @ @ (m
Wy e @ W G

Match the following columns and select the
correct option.  http:///www xamstudy.com

Column -1 Column - 11

m) 615 pairs of )  Trygon
gill alits

(b} Heterocercal (i) Cyclostomes
caudal fin

e} Asr Bladder () Chondnchthyes

id)  Poison sting (iv)  Owteichthyes
(@) (b) (o) (d)

M v m w @

- U T )

o w G @G

W mw v @ ()

mm“‘mﬂthilulnmuudnﬂn;:

(1) Seneswnce

@  Dormancy

@ Log phase

W Lag phase

ldentufy the wrang statement reference
uhmunty v =
) Active imm i 1
. unity is quick and gives full
Fortus receives wome
. antibodies from
::hr_. fl \* an example for passive

When exposed 1o antigen
lﬂm

4
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69. Match the following columns and select the
corrort oplion.
Column - | Column - 11
()  Floating Ribs () Located between
sercund and
seventh nbs
by  Acromion ()  Head of the
Hmﬂﬂ
(¢) Secapula i) Clavacle
(dy Glenowd cavity iv) Donot connect
with the sternum
(m) (b) (e} (d)
() i) G Gv @
@ ovy m @© W
H# G 6w @ G
m mw )

,/u’ (i
70.  1fthe distance betwoen two consecutive base pairs
1= 0.94 nm and the total number of base paurs of 0

DNA double helix in a typical mammalian cell is

6.6 x 10° bp, then the length of the DNA is

approximately -

1 22meters

@ 2.7 meters

(3 20meters

@) 2.5meters

: e ing conditions
e
(1)  Ketonuria and Glyoosuna

@  Renal caleuli and Hyperglycaemia

are exemplified by
(1)  Aschelminthes .
u .n IM
@ Crenophora
T Rayflorets have:
m Wﬂl‘ﬂ
@ Half inferior ovary
Inferior ovary
T n.: .| ovary

T4

75,

F2

The infectious stage of Plasmodium that enters
the human body is :

‘_,J.H'" Female gametocytes

21 Male gametocytes
(3)  Trophomites
idh Sporozotes
Which of the following statements 1= not
correct ”
(1)  The funcuonal insulin has A and B chains
linked together by hydrogen bonds
@  Genetically engineered insulin i produced
in E-Coli.
@ In man insulin 15 synthesised as a
procnsubin
(4 The promnsulin has an extra peptide called
C-peptade
In water hyacinth and water lily, pollination takes
place by
W) wind and water
(@ insects and waler
(¥  nsectsor wind
(4 water currents only
Cuboidal epithelium with brush border of mucrovill
is found in -
(1) proximal convoluted tubule of nephron
(@)  eustachian tube
Wl bmung of intestine
(0  ducts of salivary glands
Match the following columns and select the
correct option.
Column -1 Columsn - 1
@ Piuitarygland @ irave a discasc
() Thyroidgland )  Diabotne mellitus
@© Adremalgland (i) Disbetos inpudus
W Pancreas Gv)  Addison's disease
w) (b (e (e
@ @ ® ™ o
m G o {w) )
ﬂ Gvi ) @ (0
W G W @ W
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F2 10 wing with respect L0 melosy -

gs  Matchthe ol
. Which one of the following is the most abundant nalizatio
protein in the animals * W  dygotere Q) 1) e’ "
1) Lectin d  Pachytene @ Chiasmata
@  lneubn @ Dephteoe @) Crossingover
@  Haemoghobmn i@ Diskinesis {iv) Synapsis
W Collagen Select the oorrect option from the following
W M ©@
80.  ifthe hoad of cockruach is removed. it may bive for
few davs because L & @ v} (m)
(1) the head holds 3 small propartion of » nerveas @ @ m @ O
eyetem while the rest 1 mituated along the
ventral part of sts body g @ ™ @ @
& hwhﬂllﬂﬂd;mm W v @ @ @
while the rest 1 stusted along the dorsal
part of its body
o 84 The QRS complex in a standard ECG ropresents:
supra-oesophageal ganglis of the
cockroach are situsted in ventral part of ) Depolanisation of ventricles
shdomen @) Repolarisation of ventricles
(§)  the cockronch doss not hawe 3

Y. Depolariastion

Y Industrial melanem dacnsey.
W, Adaptive radiation @ Cancer, AIDS, Syphilis
@ Convergent evalution . Gonorrhoea, Syphilia, Genital herpes
(L]
p Gonarrhoes, Malaria, Genital herpes
The process respanable for ing loss. of '
in liquid form from the tip of grams blades st o | P&
4nd 1n sarly morning e m?;ﬂm-mnﬁuwﬂ
tontrals ABO blood groups.
(1) Imbibition D WheniAsgaps i
ire present together.
@  Plasmolysis N “""'Wﬂm
mTh“
M Transpiration ®» Produce any sugnr
() Rootpressure h"mhhm
@ ih'ﬂuﬂlnﬂ; the the*
alleoy. two of
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Which of the following is not an imhibitory
gubstance govermng seed dormancy 7

)‘.l‘lf Phenolic ncd
(Z)  Parn-ascorbic ncid
@  Gabberellic acd
(4)  Abscisic ncid

Match the following columns and select the
correct option.

Column -1 Column - 11

(a) Organof Corti iy  Connects middle
ear nnd pharynx
()  Cochlea ()  Coiled part of the
labyrinth
(¢ EBustachiantube (i) Attached to the
oval window
id) Stapes () Located on the
basilar
membrane
m) (b (@ ()
(y Gv) (@ @® G
@ @ () v G
@ @ M) ®
e @) ® (v G2
The ovary is half inferior in :
Y Sunflower
@ Plum
™ Brinjl
(4 Mustard
Match the following :
()  Inhibitor of catalytic @  Ricin
activity
@)  Possosspeptidebonds () Malonate
@  Cell wall materialin (W) Chitan
fungi
@ Secondarymetabolite () Collagen
Choose the correet option from the following
@ ) @
m G W 0 W
w W G o W
® @ v @ O
@ @ ® » W

11

9L

F2

Which of the fallowing oxoscid of sulphur has
=0 =0- hnkage?

(I H, 8,0, peroxodisulphuricaad
() Hy8,0. pyrosulphunc acid

14

»

H,50,, sulphurous acid

H,S0,. sulphuric scid

An increase in the concentration of the reactants
of & reaction leads to change in :
M threshold energy
2} collison frequency
(3)  wctivation energy
4)  heat of reaction
Identify the incorrect match.
Name IUPAC OfMicial Name
(a) Unnilunum W Mendelevium
) Unmltrium {) Lawrencum
{© Unmlhexium (i) Seaborgium
id Unununnium {ivi Darmstadtium
(0 (e ()
@ () (v)
A (). G
@ ()G

A mixture of N, and Ar gnses in s cylinder contans
7gof Ny and Sgol Ar, Ifthe total pressure of the
mixture of the gases in the cylinder is 27 bar, the

partinl pressure of Ny 48 ©
[Use atomic masses (in g mol = 1) : N= 14, Ar= 0]

(1) 18bar
() 18bar
@ Obar

) 12 bar
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F2
in presence of dilute NaUOH s known as

(1) Cross Canmsssro s reaction
D Cros Aldud condrosation
i Aldad ondeosatss

\'ﬂ anroszmro's reaclaon

M Whach aoe of the fallowirgs huvs mamum number
of wtoams *
e 1 gl O [Atomic mnss of O = 16]
@ Igoflai) | Atomic massof Li = 7]
W ool Apis) [Atomic mase of Ag = 108]

o |l‘"ﬁﬂlﬁhﬂtn_dﬂ.="]

Py

+CH,)

*CHyon

12
88 Which of the following amine wi]| Kive 1,

carbylamine teat ?

N(CHy)y
4
NHCyH,
@
NH,
™,
NHCH,

=
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101, Which of the following is a natural polymer * 104. The rate constant for a first order reaction s

(1) polybuadiens 4606 %107 a1, The time required to reduce

A2y poly (Butadiene-acrylanitrile) 2.0 g of the renctant to 0.2 g is :

@  cia-lA-polyisoprens D 5008

(4) poly (Butadiene-atyrens) ® 1000

102. Match the following and identify the correct
option. @ 1008
W COR+H @ MgHCOH,+ (4 200s
Ca(HCOy),

M) Temporary (1) Anelectron 106. On electrolysis of dil.sulphuric acid using
hardness of deficent hydnds Platinum (Pt) electrode, the product obtained at
wator anode will be

© ByHg ﬁ ﬂﬂi;:h'“ﬂ" (1) H,Sgas

W RS structure (& SOggus
m) (b) (0 ) (#  Hydrogen gas

® @ m @ @ i

@ ® G @ §% - Oy

' @ v
% % g:] i) {iv) 106 An element has a body centered cubic (bee)

structure with a cell edge of 288 pm. The atomic

103. An alkene on ozonolysie gives methanal ns one of R

the product. ts structure is:

4
CH, - CH = CH, @ B

ﬁ, o é—umlﬂh
| ]
4

* 288 pm

W‘ ',Hl" -"IE:: 288 pm

@ 107. Sucrose on hydrolyais gives :
: () eDGlucese + f-D-Fructose
@  aD-Frectose + §-D-Fructose
=CH-CH, (M  B-D-Glucose + a-D-Fructoss
) e-D-Ghucose + f-D-Gilucose

108 Which of the following is not correct about carbon
modsxide T

" (1) The carbexyhsemoglobin (haemoglobin
'I:H,"ml"ml bound to CO) is less ntable than
- axyhnemsoghobin.

c @ Itis produced due to incomplete combustion
@ @  Itformscarboxyhsemoglobin
(4 It reduces oxygen carrying ability of hloed

Downloaded from www.cclchapteY.com “




F2 ke ng point depresicl conatant gy

L 1‘:” .ﬂl"‘ The freens
109, m-mmmmmmﬁ_ n m-ﬂllbl solution of molality lt:‘np,,t
Racult's law s W.-‘Wiﬂuttlnlmnml
PERRRPR Y 1L Mﬂ“' wmﬁdﬂllplﬂnnl:
@  Chlrwthane + Bromorthane @ OWK
0  Ethanel + Acstonwe @ 080K
Y.  Bonmme + Tobume @ OmK
W 080K
110  Identify compound Xt the following sequence af 112 Which of the following i a cationic detergent
i w Cotyltrimethyl ammonium bromide
CH, CHO @  Sodium dodecylbenzene sulphonate
. ®  Sodium lauryl sulphate
:l"_.h II-TII W Sodium stoarnte

113 Paper chromatography is an example of -
(1) Thinlsyer chromatography
@ Column chromatography
@ Partition chromstography

. llwl ‘the eorrect statement from th

h'8 'Wﬁnﬁ'unﬂqu carried out §f
Nickel by Van Arkel mothod.

@ Pig iron d
: ﬁhlnu‘hhdhtﬂuum l

6)
5
cl @ "‘.‘l_h ron is impure iron with:
™ i) “ ‘-mhimwﬂ""”
10 e ollowing peactien " chaoge in axidation number of 37”
:‘”""ﬁ*m*m
“w4g
‘ @ Oty
<4 Pty
o w Ot 44
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118

£

E

Eliminstion reaction of 2-Bromo-pentane to form
#n‘-hm 1 ;

(@ P-Elimination reaction

iy  Follows Zaitsev rule

fc) mmwhﬂhﬂn reaction

@  Dehydration reaction

I M)

@ (n) (b))

@ (a)(b), (e
- (), (), (d

Hydrolysis of sucrose is given by the following
reaction.  http://www xamstudy.com
Sucrose + HyO 7 Glucose + Fructose

15

If the equilibrium constant (K 1 2x 10 at

300 K, the value of A G* at the same temperature
will be :

12L

122

F2

Ures reacts with water to form A which will
decompose 1o form B. B when passed through
Cu** (ag), deep blue colour salution C is formed
What is the formula of C from the following ?

(1) Cu(OH),

@  CuCOyCuiOH),

@ CusSO,

@) [Cu(NHy,J**

Reaction between acetone and methylmagnesium
chloride followed by hydrolysis will give -

(1) Tert butyl alecohaol

(@) lscbutyl alcohol

&7 lsoprogyl aloohol
(4  Sec. butyl aleohol

(N

@ ~8314Tmol™ 'K~ ' x 300K x In{4 x 10'%
(#H =8314Jmol K- x 300 K x 1n(2 x 10'%
(#) 8.314Jmol~1K~1x 300 K x In(2 x 10"
Match the following :
Oxide Nature
) QO @  Bame
» BaO i Neutral
()  ALO, (i) Acidic
@ CL0;  (v) Amphoteric
Which of the following is correct option 7
® (B (@ (@
m @ »m &
@ @ @ @ @
@ ® @ @
M @ @ v G
Identify a molecule which does not exist.
m G
@ o,
@  Hey
- Liy
The number of F required to produce
10l e oy matiots Catly (Atomis mass
of Ca= 40 g mol = 1) is :
m 3
@ 4
mw 1
o 32

8.514J mol ~ 'K~ x 300 K x In(3 x 1019

128. The number of protons, neutrons and electrons in
';:’Lu , respectively, are

W 7. 7land1D4

() 175,104 and 71

() 7L 104and71

(49 104, 71and71

Which of the following alkane eannot be made in
good yield by Wurtz reaction 7

(n
@
(¥ 1]
™ 2.5-Dimethylbutane

HCl was passed through a sclution of CaCl,, MgCl,
and NaCl. Which of the following compound(s)
cryutallise(s) ?

(h  Only MgCl,

@  NaCl MgClyand CaCly

@  Both MgCly; and CaCl,

J4" Only NaCl

138, Meswsuring Zeta potential is useful in determining
which property of colloidal solution *

(1)  Stability of the collaidal particles

@  Size of the colloidal particles

@  Viecosity

" Solubility

1
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128,

131

Find out the solubality ﬂH:iﬂH&mﬂ.le
Given that the jonic product of Ni{OH)g
2x10-1

M  Ixlo-M
1=10°M

I l0-10N
Exln-%*M

ka
i
i

For the resctian, 2Clg) — Clyg), the correct
option is

N AH<OandAS>D

@ AH<OsndAS<D
 AH>O0andiAS>0

i AH>0und A S<0

The cnbeulsted epun only magnetic moment of O *
wn

i Ss2BM

& LIS4BM

& I57BM

M) 480BM

ldentify the correct statements from th
fallowang £

OO g w usod a5 refrigerant for ice-cream
and froses faod

B The structury of Cop contams twelve
mwdwﬁum;

@  ZSM-5, & type of seclite, is used
alookuds (ntn gasatine & P

) CO s coleriess and odouriess gas.

M) ®rand (c)enly

@ o) and id) only

@ (a), (b) and () anly

) {a) wnd (¢} enly

e e e
ATP and with Na, in responsible for the

transmission of nerve mgnals.
1) Calesum

I

[3/4]
i N Y
Wﬁﬂr
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152 Which

of the follawing set of moloculeg ), X
gero dipole moment ?

. , beryllium dif
Nitrogen triflvaride ey
water, 1.3-dichlarobenzene

Boron trifluoride, berylbum dif),
arbon dioxide, 1,4-dichlorobenzene

n

@

Ammonia, beryllium difluoride, wy,
1. 4-dichlorobenzene

Boron trifluonide, hydrogen fluoride e
dioxide, 1,3-dichlorobenzene

b N

Ly

138 The correct option for free expansion of an u

gas under adiabatic condition is -
(
@

A
@

q<0,AT=0andw=0
Q>0 AT>0and w >0
q=0,AT=0and w=0

9=0,AT<0and w >0

184 Which of the following is the correct ardr

increasing field strength of ligands to f“‘
coardination compounds ?

:
]

@

@ Wtrqw‘m-
. '

SON" <F~ <ON- < 01

el ) Corbocation because of <!

~Reflect of - O, groupe
TR

8 8 8

“

F<SoN“<Gofeons |

CN" <Cy0f <seN™ < b
|
|

ll "lh-i-F I-
naary butyl earbocation is maro stable 49

% A
i
i

A

!



196, In & guitar, two strings A and B made of same

material are slightly out of tune and produce beats
of frequency 6 Hz. When tension in B s slightly
deocrensed, the beat frequency increases to 7 He
If the frequency of A is 530 He, the original
frequency of B will be :

(1) BH36Hz
(@ 537Hz
3 523H:z
4 ©G624Hz

187. The increase in the width of the depletion region

in & p-n junction diode is due to -

(1)  both forward bias and reverse bias
(2) increase in forward current

(%  forward biasonly

w reverse bias only

138, The quantities of heat required to raise the

temperature of two solid copper spheres of radui
ry and ry (r;=1.6 ry) through 1 K are in the
ratio

e B 9

== _ln wie wlw

A series LCR circuit is connected to an ac voltage
source. When L is removed from the cirouit, the
phase difference between current and voltage

hi If instead C is removed from the eircuit,

17

140.

141

£

F2

A ball is thrown vertically downward with a
velocity of 20 m/s from the top of a tower. It hits
the ground after some time with a veloaity of
80 m/s. The height of the tower ia : (g=10 m/s¥)

() 320m
@ 300m
3 360m
@ 340m

In Young's double sht experiment, if the separation
between coherent sources is halved and the
distance of the screen from the coherent sources is
doubled. then the fringe width becomes :

o7 fourtimes
@  one-fourth
(3  double
(4  half

Which of the following graph represents the
variation of resistivity (p) with temperature (T) for
copper 7

1/
@ 5\

T

T

i o

T
T
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(L8

Lid

00 turn®

A hong solenced of 50 cm length having | pderp

cnrraes acurmeat ol LB A The magnets
the centre of the sobenosd

(g =4rx 10" TTmA™Y

i ezsx10-'T
L1axio—2T
628 x 04T

x0T

..:L
o
iy

Light of frequency 1.5 times the threshald

wenCyY -ndtu-iphu-ﬂl-ﬂﬁ
:r:u I'ﬂl'hr the photoclectrc current ﬂ‘:l-
bquﬁ-h“-i-ﬂlﬂa‘ullﬂ“

- fourth

& ==
i doukbed

T, forumes

in

A screw guugr has lesst count of 0.01 mm and
thery are W dresunne of (s corcular scale.

The gutch of the screw guupe
™
o
m
14

0% mm
LD mm
001 me
05 mm

ﬂhdilﬂ—u'-.,m_-"
s pulley which i imhﬁll viag

" e which of the f""’“‘h
1 rrll'“.‘l“'ﬂ'r -
For =

statement®

jat rl‘mdlﬂn P wul] i t!ﬂ' mlbﬂ

Fh*h"‘“::w.nnﬂ-ri.nmd.

y e rom St B VOTY thin and Ly,
mr

doped tter and collector Tegions g,
Bage. 6 doping congentrations,

have same

‘!E.. hl“’“—“l gL
Far which ane of the follow1ng, Bﬁhrm‘“d“hltl )

(&

kU

148

ﬂpmnlﬂm
Singly ionised peon atom (Net)

Wlm i
Sangly sonised helium atom (He *)

il

-

3

LY .
be of radiue r 18 immersed inwen

ffr’flu?:mlinllhu height h. 'I'hen:?

the water in the eapillary is 5 g. Another capi

tube of radiue 2r 18 immersed in water, The

of water that will rise in this tube is

(1 100g

21 200g |

@ 25¢g '

M bHOg

e

1

und magnetic field components to the ]
an elestromagnetic wave is : (c=opetd |

(n
@
£
by

IBL Anj
aniron rod of suscepuibility 599 is subject
*Efetising field of 1200 A m
of the material of the rod 18
u"!'h!]ﬂ'?Tm A1)

scoeleration of the eyetem i) ‘ :
due 1o gravity () w - scoelerutin
‘g
o kg

in g

™ gho

@m ¢

i g

[ ﬂ_

o e x 1067 gy p-1
@ 24ax 10077 T g A-1
D ldwx1o-apga-
0 '.ﬂum-iTmﬁ_.
B2 The
) h‘:-..’""‘hfnﬂ'nnw
“ ti‘tw
@ i‘-w
oo
g < 30
0 Wiy < gy
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163 mph’"d'ﬂmm."“““mmtlﬂ 188 Taking into account of the significant figures, what
scoeleration of a particle in a simple harmanic i the value of 9.99 m ~ 0.0099 m ?
motion ia 1) 9.980m
@m = md 2 99m
2
@ wero A0 99801 m
3 wrad 4 998 m
~d !::'Hﬂ 168. The energy equivalent of 0.5 g of s substance is -
1 of kg {1) 1.6x 108
184, Two particles of muee 5 kg and 10 kg
demmmmaIﬁﬁdebh @ 05x101J
1 m with negligible mass, 3 45x10¥%)
The centre of mass of the syatem from the 5 kg @ 45x1013)
particle is nearly at a distance of :
(1 67em 160. When a uramum isotope ".:;Uhhﬂlh!dﬂdm.th
@ S0cm a neutron, it generates j¢Kr, three neutrons
@ 33cm and :  http://www.xamstudy.com
¢ 0w M  'NEKr
A sphenical conductor of radius 10 cm has n charge @ '"SKr
of 3.2x 10~ 7 C distributed uniformly. What is @ g,
the magnitude of electric Beld at a point 15 cm :
s thé oonitiv ol thoephore ? N
1
[m-i‘lﬂ' Nm’fC’J 161. A short electric dipole has a dipole moment of
20" 1382 10850 16 x 107 % C m. The electric potential due to the
po % - dipole at a point at a distance of 0.6 m from the
1.28 x10 5-“3 centre of the dipole, situated on a line making an
@ 128x<10°N/IC angle of 60° with the dipole axis is :
W 128x108NIC I
e T 2
Assume that light of wavelength 600 nm is coming [4... 910" Nmi/c? J
from a star. The limit of resolution of telescope
whose objective has a dinmeter of 2m is : m 400V
M 7.82x10-7rad . @  mero
@  6.00x10-7rad 1A @ sov
@ 866x10-7Trmd 4 200V
W) 1.89%1077pad i
162 A cylinder contains hydrogen gas st pressure
8 b aris et ity o | LT
3X10-10 Ve 1. haa o mobility snm? V= o~ | Ita demity o (R = 8.3 mol -1 K~
;*' ® 0.1 kg/m
» :::“':“ @ 002kgm®
g o= - i
@ 25108 (4 02kgm
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18 T "Wthr-ﬂmm'hlmmr[-
# kg » Boltzmann constant and T, absalute

wmpersture )
® 2 kT
@ , kyT
- é kyT
@ kT

164 Thrmhmﬁ-nrlm-mhh_

Yellow Vislet Brown Gold
m“hdm.ﬂm_l el

Ere
T, 4TkL 5%
@ 4700 s
@ 470k 5w
0 4TEL 0%
V6% For the logic ciecuit ehown. the truth tabla i :
A
Y
B
(1 4 A B Y
o o 1
(1] 1 1
| o 1
1 1 o
& A B Y
o 0 1
0 1 0
1 o 0
1 1 o
(1] O 0
L] 1 o
i 0 o
1 1 1
'rq A B Y
(1] o 0
L] 1 1
1 0 1
1 i i

resistance wire connected in the |eg |
bridge balances o 10 1} m,,.tam:':; 'tl.:
at o point which divides the bridgs ‘.r

i the ratio 3: 2. 1f the length of the ry,,
:?m in 1.6 m, then the length of | g r;l.:i

rlllil'ﬂl'ﬂ'lﬂ.l'l'il:
1.6x10°'m
1.5x10-%m
LOx10"%m
1.0x10°'m

166 A
mirire

|}
]

by

o
el
@

Find the torque about the origin when a for ¢
3j N acts on  particle whose position vector,
2hm.

(n
@
=
(4

167,

sl
-6iNm
Y
Gk Nm

V68, Awirooflength L, ren of crome section A is hangi
hlhdm mlln‘thnfmm
Ilhmhmmﬂhmnﬂﬁiﬁmﬂ:
h"ﬂ'mwhvm'lmndu]ui

(D
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An electron s nccelerated from
Pﬂ.“u!] difference of V vaole |f
wavelength of the electron i | 227
#.ntil]diﬂ""m LN

a 1wV

@ 10y

@ 1wV

W 10V

rest through 5

X 10-Fom the

17

A ray is incident at an angle of incidence i on ope
surface of a small angle prism (with angle of prism
A)and emerges normally from the opposite surface
Ifthe refractive index of the material of the prism
i# u. then the angle of incidence is nearly equal

o :

wA

.

A

™

C 3A

0
|
I, Ep
1T The solids which have the negative temperature
 eoefficient of resistance are :

M semiconductors only

insulatars only

™ Inn certain region of space with volume 02,
o space
 electric potential is found to be § V throughout
"M magnitude of electric field in this region 18-

21

F2

17& The capacitance of a parallel plate capacitor with

177

1

1™

ir as medium is 6 uF. With the introduction of g
dielectrc medium, the capacitance becomes 30 uF.
The permittivity of the medium 1= -

leg=B885x 10 12CIN "I g3
() O44x10-10CIN-1p-2
2 S500CIN-lp-2

B O44x10-VCEIN-I -2
M LTTx10-12C3N-1gm-2

The energy required to break one bond in DNA is
10-2J This value in eV s nearly

(o

@ 0006

@ 6

4 086

Dimensions of stross are -

Iy [ML°T-¥)

@ [ML-IT-3%

@ [MLT-¥)

U [MLAT-3

Two cylinders A and B of equal capucity are

mn_.mmdmudmﬂurm-ﬂnpmck. A contains
an ideal gus at standard temperature and presswre
B is completely evacuated. The entire ivalem is
thermally insulated. The stop cock 15 suddenly
opened. The process is:

(1) socharic
(I  isobanc
A sothermal
M)  adinbatic

The mean free path for & gns, with molecular
dusmeter d and number density n can bo exprossed

® FoiE

® Fo

L1 3_:;3
-glo-

Downloaded from www.cclchapter.com



